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It is obvious from the lest logson that we
ding draft in full. If we have a warp of 1000 ¢rds, ticn na
heddle on o gronh paper with 10 divisions por inc
a draft 100 unches or norc than & fout long.

Thus a practicel threading droft is always abridoed. Yor in-
stance, in tuo lauh lesson (rag: 9, f“D.LO) the moin nettern 1g ro-
peated 1 tincs, but only one repzat is siven, which nolics this port

1

of %tlhce draft alrcady 31 times shorier thun the counplete threading.

The first »nrinciple then »f shortenirg o draft iz fto divids it
‘ ata. But At moy konpen that thove ars
; : two or teore Gificront ronoavs
H 3 »
i oo p:e X_Tox, oven in the B
. X ¥ % x_ % x TEo X ST .t
! R R S I N T e in fis 1. Filrst wo bnve a
i < (S bl = : . . . .
' i . ; ~ ; gnall pattern in dianend tuill
5 Nt - 5 e
1655 viyieh is repeated 5 tines
=L LOX - . .
frot1 D to C)

Cr, Thun cones o
nattern in overshot He;
tines. But thon both

i

hooe
puatterns are belag repoated

15 tinee co indicates o numbcr below., Thus the wnin patiern is cornpmossd

of twvo rmeats: D to €, and C to B, Zuch of thon is takern a Adiffcront

nuniber of tines, ana thoy both together fornm the main rewnoal: from D

to B. The lattesr ds repeated 15 tinces. Then to balance the patiorn

£

ate
ve have the »nart of the draft from B to & - throiaded 5 tiacs.
Wien we want to {igure out the total number of ondgs nocessary
for this draft, we start with th: madn repeet fron D to B, This is
composcd of ¢ cuds (D to C) taken 5 times or &40 onds, plus 20 ond
(C to B) teken 3 times or 60 onds. Topgether 40O and 60 gives nu 100

cnds for the main remeat. Since this is threadcd 15 tinus - we have
a total of 1500 osnds. To kalonce the paticorn we have the draft fron
D to A (5 ¢onds) taken 5 tiacs or 40 ends. Sc in all we Love 1540 cnds.

Letually on the draft we have only 36 heddles narized instead
of 1540. Such & draft con be justly called short, althousi: the term
Short Draft is usu«lly applicd to drafts still nore chbroeviatod.
thot often happens in practice ie that the acdn draft coannot
be divided ocasily into short, simplce ropeats. For instance thie nart
of the draft from € to B may be much longer - it nay hove nore than
a hundrod ends. In such a cose if the draft is symmetrical, we can draw

only onc half of it, and at the very center mark it: RIVERSE. This
cns thot from this particular point we start throeading in roverse.

ihﬁ central heddle of the draft is not repeated. Tor instancs:
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In this casc 1t is advisable to indicate clearly from which diroction
the draft should bo rcad. Altgough 1t is customary on this hoemispliere
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to rocd fron the risght, most drafts can be rcad from citiicr dircction.
ere however Lthorce is only one way. then we cone to thie iaost heddle
narked “Reversces we go back to the last hut on: and so on. i
the sccond half of the draft:

x, X X ¥_X XX :
X, ¥OX_ X nX .
Ao Tmox ¥R _X_X E O b P b < Fird3
j Tx Txixox XX X x xx
cnd «—dircction of throeadiag

Overshot weave is about tho only one in vivich tohe throading
drofu cunnot e shorten any further, without using a goecial mothod
whicl. cannot be arplizd to any other weave. Yo shall acece later hovy
to deal with othcr weaves.

Overshot producces flonts of different
nalie the »nattorn, Thus i we can indicats om..v

length of floats, we shall bizve cnough infor wlze the
threading draft. Dy the position w2 nmcan thn c;ab;natJO“ of heddlo-
frames: 1-2, 2-3, 3=k, and &-1. By tho longth - the mumber of warn cnds
tic float skips. Thus the droft on fig ol cun be renresonted os on
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fig.5. The first, lowsst linc on this new draft ncans floats produced
Ly thce combination of franes 1 end 2. Tbe sccond: 2 and 3, th: third:
3 and 4, and the fourth or top lino: nd 1. Instead of 'x' as in
nlain threading draft we use now m*wbm.). Fach nunber iadicates how
leng is the floct. The first float starting from the right will be
nade on frames 1 and 2, and it skins &
warp ends. Thus we plece 6 on the lowcst
line of our ncw short droft. The next
float is on 2 ard 3 and it's longth is 8.
Then comcs one on 3 ard L, long 4. .nd
so on. In practice making such o short
draft neans circling with poncil (or in inagination) grouns of heoddles
on two adjoining heddle-frames. These groups will always overlap ons
avother by onc hedlle. Then in the short draft we nark: l-st — tho
position of thc group, aad then the numbor of heddles it containg.

Later on we dispense with the numbers of frames raorl-ed oun the
left in fig.5, and the draft will take less space as in fig. 6.

To roverse the procedurc - wo have a

z -‘7_, . f‘*] 3 o] ] I + I 3 » 3 +
01/64 46’4 Tig. 6 on?rt draft and rust dtfulOp it into a
£0 - full thrcading draft, YWe take a nicce of

- graph paper, and start nmarkiag heddles
alternatcely on frames 1 and 2 until we have 6 of then. Dut should we

start on 1 or 2? The short draft docs not say which. The simplest way
is to try. If we start on 2 we shall have 7 aind not 5 heddles by the
tine ws cone to the next float, or the tvo floats will not match i.eo
there will be a gap in threaﬂlng Thus we can start on any of the two
francts aad if the first {loat turns out to bec too long, wc sinmply
crase the first heddle. This is the only difficulty. The followving
floats precsent no problemn.
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